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2ND SEMESTER REGULAR / BACK EXAMINATION, 2015-16 

                       BUSINESS ENVIRONMENT AND SUSTAINABLE DEVELOPMENT 

QUESTION CODE: W 496 

Time: 3 Hours 

Max marks: 70 

Answer Question No.1 which is compulsory and any five from the rest. 

The figures in the right hand margin indicate marks. 

 

Q1  Answer the following questions: (2 x 10) 
 a) What do you mean by Economic environment of business?  
 b) How can an expansionary fiscal policy close a contractionary 

gap? 
 

 c) What does self reliance under Indian conditions mean?  
 d) Why is industrial sickness one of the most complex problems of 

the Indian economy? 
 

 e) What are the pillars of economic reforms?  
 f) What are the major sources of finances for meeting the 

requirements of the different five year plans in India? 

 

 g) What are the functions of the state in addressing market failures?  

 h) What do you mean by naturally occurring green house gases?  
 i)     List out the reasons for privatization in India.  
 j) What core ideas does sustainable development include? 

 

 

    
Q2  

 
 
 

Explain the process of environmental analysis and discuss the 

benefits of an environmental study.                                                   

  

10 
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Q3  Discuss the effectiveness of New industrial policy in the light of 

industrial performance of India in the post reforms era. 
10 

    
Q4  

 
 

Explain in detail the relation between the existing economic 
system of a country and its business environment. 

10 

    
Q5  

 
 

What are the standard methods of public sector disinvestment? 
What are the main issues concerning public sector disinvestment 
in India? Explain. 

10 

    
Q6  

 
“Indian plans are greatly dependent on domestic resources than 
on foreign aid”. Discuss. 
 

10 

    
Q7  

 
 

Analyze the steps the global business community can take to 
reduce ecological damage and promote sustainable 
development. 

10 

    
Q8  

 
 

Discuss the obstacles to developing the World’s economy to 
meet the needs of the present without hurting future generations. 

10 

    
    
 
 
 


